@M

‘\\

@ x| <

AN

N

M "3

ASSEMBLY INSTRUCTION

MODEL : TW 17014-TG-S5V - EMMA TG TOWER WITH GLASS DOORS

SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE
wiA B C D E F G H I J K L M M1 M2 N @) P Q R
0<: 16M 30MM 40MM 50MM ) 2 % °
=) g @3 22MM 12MM
= ot |24 ] | e < oy sy S =
0 | PLASTIC | CB cB METAL
Y | DOWEL SCREW | SCREW | CSKCAP | CSKCAP | 2PIN POWER SHELF HINGES 7/8 RA01835 ROUND HANDLE SCREW | PLASTIC P/H SCREW
<C | M8X25MM | M3.5X16 | M4X30 M6X40 M6X50 STOPPER | NAIL 6/8 | ALLEN KEY | CAP MINIFIX 5654 | SUPPORT | (INSIDE) HANDLE - METAL  M4X22MM PIN L- BRACKET | 'Z' BRACKET | M4X12 CLEAR GLASS (1050 x 430 x 3mm)
I | 1X44 | 1X36 | 1X4 1X8 1X6 1X4 1X54 1X1 |1X18| 28 SETS | 1X12 | 5SETS 1X2 1X2 1X4 1X4 1X8 1X8 1X1
Part List Step 1 Step 2 Step 3
. = O \
a0\ a0
(/\/\ 2 ('\/ L _ 9@
/,\\ \\ \/\"‘ B
\ \:,},, @ \/\// @ -
oF : N (=) \
\& /) \:7 - |
<t S - O @ 1
O NS~ R
(;’/‘v \/} \\'j o bev\ [ i’ (\0,/‘, o
~— <] - —
17 . .
— — \\”‘ . o . .
Pt ! . =
©® “1. “l. -
T - .
= ,% E D
\ 9 \
X -
TOP VIEW BOTTOM VIEW LEFT VIEW RIGHT VIEW
Step 4 Step 7

INSIDE VIEW

PAGE 1/3

Domain01/rnd/Al - PDF 2017/BUYER STANDARD/ON/EMMA/TW 17014-TG-S5V, P1-3.pdf




@ — MODEL : TW 17014-TG-S5V - EMMA TG TOWER WITH GLASS DOORS

SOFT,DRY CLOTH CHEMICAL HEAT KEEP DRY HANDLE WITH CARE DO NOT USE KNIFE

/N @M ) xS Mﬁmﬁ i) ¥ __ % ASSEMBLY INSTRUCTION

Step 9 Step 10 Step 11

Step 12 Step 13 Step 14 Step 15

ARARARARARARARARARAN

e

BACK VIEW BACK VIEW

PAGE 2/3

Domain01/rnd/Al - PDF 2017/BUYER STANDARD/ON/EMMA/TW 17014-TG-S5V, P2-3.pdf




N Y XA Y g ¥, ASSEMBLY INSTRUCTION
= = roLE W MODEL : TW 17014-TG-S5V - EMMA TG TOWER WITH GLASS DOORS
Step 16 Step 17 Step 18 Step 19
(plr———1
|
| INSIDE VIEW
\
\
OUTSIDE VIEW |
i

Step 20 Completed

1/

PAGE 3/3

Domain01/rnd/Al - PDF 2017/BUYER STANDARD/ON/EMMA/TW 17014-TG-S5V, P3-3.pdf




